N = 0l & At & Ml A
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R RPN R =Ny
X WAHAE |4

el HeHAE & N3 HELs (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
XS Z A 9,782,559 8,591,078 1,191,481
= 109,736
& 6,000
< 30,350
Al 9,636,473
MehAE 4 156,218 770,330 AB14,112
< 10,350
Al 145,868
MeHAIE 2 XSBHES S 156,218 183,670 N 27,452
< 10,350
Al 145,868
MHeHAIE & BHELs 22 39,920 33,600 6,320
201 Let249] 32,000 30,000 2,000
01 At 22/l 2,000 0 2,000
OMAHAZASAHALE L3 E2H 2,000,000 2,000
02 23224l 30,000 30,000 0
OMHAZFAELESESRSERAE 4
30,000,000& 30,000
307 glz2+ol & 7,920 3,600 4,320
02 QIZtFAEXZ 7,920 3,600 4,320
OANZEMHUMESAAERAZ2ASI ALY
660,000 »12& 7,920
NEZHE st 78,598 130,070 AB1,472
101 1A Hl 528 0 528
04 JIZHHZ2XREE S 528 0 528
OAHI(MS8)8=2A 22
44,0003 »4H +3 528
201 €24l 7,400 7,400 0
01 At 22l 4,400 4,400 0
ORBIIAAL NV (EE NFN S)
2,000,000 2,000
OXHIAF MM A2 1,400,000 1,400
ORsSgadEdgos A& 1,000,000 1,000
02 =24l 3,000 3,000 0
OXg =Xt 3,000, 000& 3,000
202 044l 2,160 2,700 A 540
01 = LH o4 1l 2,160 2,700 A 540
OZHE=Sot&tel ol 1,440,000 1,440
O ArZAH & SdF & 720,000 720
203 R =&l 5,830 7,290 A 1,460
03 A Z=XH R =ZH| 5,830 7,290 A 1,460
OXNGZ MU AI#M=AHR=AH 5,830,000 5,830
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R RPN R =Ny
X WAHAE |4

el HeHAE & N3 HELs (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
301 et a = 7,680 7,680 0
MIIEEE=S 7,680 7,680 0
OSIIZLEHgAEESEAS
80,000 «8H 122 7,680
306 4= 55,000 105,000 A 50,000
01 &= 55,000 105,000 A50,000
OXNYGZEMS S8 JI=XRXEH £H3
5,000,000 5,000
OA&ZTol XAJZ &A(ZINANUE)
50,000,000& 50,000
HdEANE SIHHSHEH 29 20,700 0 20,700
< 10,350
Al 10,350
307 21201 & 20,700 0 20,700
< 10,350
Al 10,350
02 QIZtFAE XS 20,700 0 20,700
O HENE P2UHSHMEH 2% 20,700,0008 20,700
= 10,350
Al 10,350
THeHAIE & XA MELs 2A 17,000 20,000 A 3,000
307 glz2+ol & 17,000 20,000 A 3,000
04 QIZtHAIE XS 17,000 20,000 A 3,000
OMHAZHANASZHELsEH 17,000,000 17,000
HUXIOE L BIHA 216,485 260,831 A44,346
= 109,736
Al 106,749
SE2F WX 222 216,485 260,831 A 44 346
= 109,736
Al 106,749
SEHQ ol X 2el 21,440 13,400 8,040
201 2yt 2 Y| 20,000 8,600 11,400
01 At 2t2l ] 2,400 0 2,400
OWUXNIZAEE=SHA 2,400,000 2,400
02 =224l 17,600 8,600 9,000
OMIIGEF A2 (FHAXNAEEHY)
8,500,000& »23| 17,000
OSSEH S A2 HF B 600, 000& 600
202 044l 1,440 1,800 A 360
01 SLHOYI 1,440 1,800 A 360
OXA & X 2el ¢l 1,440,000& 1,440
Jgls 1008ts E2AY 40,000 50,000 A 10,000




LB
HE: OUROE U B
S 28 WMWK 3

Ty

H

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
402 SI2FXHE0| & 40,000 A 10,000
01 Q228 X 40,000 A 10,000
OF8 AMTHMUUHXEH EXIXS
2,000,000 x200+ 40,000
ANBIE JIAAAE e XISAS 12,045 10,614
= 9,636
Al 2,409
403 XX SHHS K20 & 12,045 10,614
= 9,636
Al 2,409
02 B 2SO0ICHSH 12,045 10,614
O AM2=E JIAA HE XIS AS
12,045,000& 12,045
= 9,636
Al 2,409
MEIEXAIE HUHK XFEIEE A/HZHAIS 143,000 143,000
= 100, 100
Al 42,900
401 AlEHIZL 2 0HY| 143,000 143,000
= 100, 100
Al 42,900
01 Al&H| 143,000 143,000
O "144 XNY9uUdX EAS 143,000,000 143,000
= 100,100
Al 42,900
I SX XA 475,536 ANT7,037,031
2 6,000
= 20,000
Al 449 536
KA ACHT 2 (BLHHXEL 3 33,200 A 791,800
QU BEAFACHT] 22| 33,200 6,800
401 AlEHIZ £ 0HY| 30,000 A 10,000
01 Al&H| 30,000 A 10,000
OBtAA T 30,000, 000& 30,000
801 oyl bl 3,200 3,200
01 olldl bl 3,200 3,200
oolglgl 3,200,000& 3,200
g a3 23 225,800 N27,731
= 20,000
Al 205,800
SA0|g2d9Xd 175,800 N44 731
202 044 5,100 600
01 2L I 5,100 600




AN XSEEH
M JIPHXKXNE
el AW AS (&
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Os2J1Y NEHESE ¢l 1,440,000 1,440
Oo=sgsatadgdaz=a Kl 2,160,000 2,160
OIMEHE XIFLR Al 1,500, 000& 1,500
306 =93 170,700 202,000 A 31,300
01 &3 170,700 202,000 A 31,300
Os2J1g XNEAJS2 &A(ZINANE)
100,000,000 100,000
OJIsYHAMY EH(HIT) 1,700,000& 1,700
OG-meel 2HAH NIAME &H
50,000,000 50,000
OsAJlY 840132 &H(ZJIE)
19,000,000 19,000
28 J|gEd e 50,000 33,000 17,000
< 20,000
Al 30,000
402 RI2EX 20| ™ 50,000 33,000 17,000
< 20,000
Al 30,000
01 BIZEAt =282 X 50,000 33,000 17,000
O 272 Jgsd He 50,000,000 50,000
< 20,000
Al 30,000
gz &5 27,000 35,000 A 8,000
& 6,000
Al 21,000
SA0Y =HEXE 15,000 15,000 0
402 RI2EA=20l A 15,000 15,000 0
01 RIZEAI2E X 15,000 15,000 0
OSSFEA J1ge o3 gsXd
15,000, 000& 15,000
OHAE X2 (SUHEAISEININSKH) 12,000 20,000 A 8,000
& 6,000
Al 6,000
402 QI2H X201 M 12,000 20,000 A 8,000
= 6,000
Al 6,000
01 RIZEAI=2E X 12,000 20,000 A 8,000
O=UWHAlE &Il XA 12,000, 000& 12,000
= 6,000
Al 6,000
MOIHAAESR HAE XIS 34,000 6,399,036 26,365,036
MOIAAESR 2tel 34,000 34,000 0
201 Let24E] 34,000 34,000 0
— 4 —




2 A
X XH
L=}

£

N
vl

DAy
AR XX

MOl AER A

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
02 2324 34,000 34,000 0
OMOIAAEIR 22| 2,000,000& *x12& 24,000
OMOIAAEIR A=K A 10,000,000 10,000
SCEHHMEH 2SR 155,536 0 155,536
oladMd e 29 78,536 0 78,536
201 Bt 78,536 0 78,536
01 AP 22| H| 76,536 0 76,536
O L A=
33,000 & *3A| 2t *x2H x4 x4 5= 12E 38,016
Ox=&2LAI2 80,000& *6Al 2t x 1L +2F= %128 11,520
Oon=sg M & =s5372¢ 27,000,000& 27,000
02 =224 H| 2,000 0 2,000
OA&ZH SAldl 2,000,000 2,000
SCEIjAAEH 22 77,000 0 77,000
201 LBt | 57,000 0 57,000
01 AP 22| H| 13,000 0 13,000
OfFcd M EE2SHE 10,000, 000& 10,000
OZHOIXN |SXNEx 250,000 x12& 3,000
02 2224 H| 44,000 0 44,000
OFcd MAaAde 224l 2,000,000& x12& 24,000
OfFcd IHEAdH H2 KA 20,000,000& 20,000
405 Ko SHI 20,000 0 20,000
01 XA 2 ZF S| 20,000 0 20,000
OFtE HEMdH 89 228 & &) 8 ¢
20,000,000 20,000
HHSAAY (NG AMD) 47,320 47,350 A 30
Jl2F Y (XNEZH D) 47,320 47,350 A 30
Jl2HH| (X< E M) 47,320 47,350 A 30
201 et 10,470 11,550 A 1,080
01 AP 2t 2] d| 10,470 11,550 A1,080
OBA2Y AMRZZHI(ZE) 10,470,000& 10,470
202 o4 H| 32,640 28,800 3,840
01 2Ll 32,640 28,800 3,840
OJIEdL2=310H|(179) 32,640,000 32,640
203 € R =& 3,360 2,700 660
04 EASHEIRFAH| 3,360 2,700 660
OBAN2EAR2=XH| (302 0la})
280,000 x12& 3,360
405 XHAHFI S HI 850 4,300 N 3,450




2N

PRS- DS

M HE2G U (RS ZH D)
gl J23H (NG ZH ) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 et EFFHSHI 850 4,300 A 3,450
Od&ED(1U) 850,000 850
EA=HIAG XA 8,887,000 0 8,887,000
LHAFHIG XNE AL (LELAFTHXNARNIAMNSES 8,887,000 0 8,887,000
5131
OlHIb (2 AFBHRS XN AL SE S AH) 8,887,000 0 8,887,000
801 Gilbl bl 8,887,000 0 8,887,000
01 olldldl 8,887,000 0 8,887,000
Ououlgl bl 8,887,000,000& 8,887,000




